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'7D Squares of Binomials
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Objective: Tonmmumwmmwwuammw

vocabulary
Square of a Binomial

@+bP =a +ab+ab+ b =a +2b+ ¥
(a-b)z-az—ab—ab#b:saz—Zab#b:

( Perfect Square Trinomial )
@ + b + b = (a + by
az—2ab+172--(a—b)2

Example 1  Write cach square as a trinomial,
a. (x+47 b (Su-2° e @x+3F d (57 -
Solution Use the patterns for the square of a binomial.
a (x+ 40 = £ +2x-4) + &4 Pattern: (@ + b = a° + 2ab + b
=1 + 8x + 16
b. (Su — 27 = (5u)? — 2(5u-2) + 2° Pattern: (@ — b)® = & — 2ab + b°
= 2517 — 20u + 4
€ (¢ + 3P = (2P + 22x+3y) + (3y)° Pattern: (@ + b)Y = a* + 2ab + b?
=42 4 12xy + 97
d. (5a° - 4b)? = (5a°)? - 2(54% - 4b?) + (4% Pautern: ,
= 25q* - 4027 + 160 @-bR =a® - 2ab + b |

Write each square as

L (x + 372
3. (a - 47
5 (u - 1)?
7. By + 4
9. (5k - 2)*
1. (3p + 5¢°
13. 3y ~ 5)°
15, (2x + y)?
17. (¢f = 77
19. (ab - ¢
21 (-4 + 3N?
23. (5p° - 6)°
=4

2. (y - 2¢

4. (n + 5P

6. (5c - 1)*

8. (4 + 5)°

10. (ab - 3)°

12. (4x - 3)-)2
4. (Sa - 7b)*
16. (2 + 5)°

18. (pg - 3)°
20. (-3ab + bY
22, (1w + )
24, (=97 - 2p






